
CM1 Calculs 

Pose en colonne les opérations suivantes : 

Additions 

256 369 + 98 599 + 367 =  

158 502 + 32 890 +561 = 

Soustractions  

9 782 453 – 1 914 261 =  

367 987 – 9 519 =  

Multiplications  

65 231 x 59 =  

378 x 13 =  

Divisions 

32 586 : 12= 

2 914 : 5 =  

6 245 : 7 =  

78 364 : 6 = 

 

 

 

 

 

 

 

 

 

 

 



Correction 

Additions 

256 369 + 98 599 + 367 = 355 335 

158 502 + 32 890 +561 = 191 953 

Soustractions  

9 782 453 – 1 914 261 = 7 868 192 

367 987 – 9 519 = 358 468 

Multiplications  

65 231 x 59 = 3 848 629 

378 x 13 = 4 914 

Divisions 

32 586 : 12= 2 715   r=6 

2 914 : 5 = 582   r= 4 

6 245 : 7 = 892   r=1 

78 364 : 6 = 13 060    r= 4 

 


